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This is how the text reads; - RVOWD Y9207 7 SWIPR 19073 9257
‘They are w7pn and afterwards send gifts; it is obvious’

Overview

%99 11 ruled that in a place where the custom is that the wedding gifts are sent after
the Pw17°p, and he sent her wedding gifts we assume that she is nwTp» even though
we are not aware of the w1 1°p.! The X3 asked; this is obvious; we do not need
the ruling of X995 27 in this matter. N800 explains the question and the answer of
the X,

Mmoo explains that it is obvious -
- DYUNPRT PYVITPA OTP MNYI0 NYYT KIPN 99 NUHPNT

That she is nw7ipP», meaning the she is nwTPn in a case where he sent the n11»2

before the 21759, The reason she is (P50n) NWNPA is -
20y YYD WY NaYTT

For perhaps he sent the m11%20 for the sake of Pwn7op.

mooin offers an alternate explanation why she is nwTp»:
= WYY 1195 N 920 AVTIPT 1929NINRT HYNPNT RVIVO DIV YN

And there are those who explain (the s'®R773 question) that it is obvious that she
is (Poon) nwipn, for we assume that he was already w7p» her (since the custom
is *9201 97 *wpn), and this interpretation is like I explained previously.

N190IN continues with the s'8 N3 answer:
= YWTPN 911 D201 XLV YDADN 911 FVTPN NATT NIIN XY 2IunN)

And the X713 answered that s'k95 27 ruling was, ‘only necessary in a case where

the majority are 2287 277 "w7p», however a minority are “w7pn 2771 “20m -
= SHVTIPN NAN NI W1 SNDIVINY “WIN N1IIHT 1IN

We would have thought that we should be ‘concerned’, for the minority’; the

! See previous PwwIN 7"7 'omn where there is a dispute between >"w1 (see footnote # 2) and MooIN (see footnote # 3),
why there is this concern. In any even she is only poon nwmpn (we are concerned that perhaps he was w7pn her).

2 This is the explanation >"wA gave previously wwin 7"72. See footnote # 1

3 See Pwwin 7"7 nwoN. See footnote # 1.

4 See shortly in M901n how to interpret the term "Wy’

5 Perhaps this person who sent the 111920, belonged to the minority whose custom was *w7pn 7771 *230017.

¢ Bither according to >"w (footnote # 2) or according to noon (footnote # 3), in a case where the custom is *7207
*wIpn 77M, there is no reason to be concerned either that he is w7pn her with these n1M720, or he was wipn her
previously, since they are *w7pn 27 *220n0.
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explanation of R 1% Wil is, so she will not be N7, therefore xoo 21 -
- YNHPN NNM N2 903 )9INT 19 ¥aWn NP

Comes to teach us that we follow the 211 and she is nwTIPnR.

n1voIN asks:
= 79pnY MM ROVIWINY YINI YIND 299107 YD)

And there is a difficulty, for how does the X7 state, ‘we should be
‘concerned’ for the minority’; since this ‘concern’ is actually a leniency?!

mooIN responds:
= 9215 199919 993 NNY 1PYIN (3,05 97 po2) 1PNINT N9 JNOUN 9133 9917 NOVIP 1T PPN 1N

However this is not such a strong question, for we also find this expression of
X177 wwn in many places, for instance where X1 said,® we are concerned that

he wrote the v with %% % -
- 9951 9913 NV %) YPNY XKWYN MM

So it is a ‘concern’, to be lenient, and it is a v in regards to everything —

Mmoo offers another example where a wwr is Xp7 -
= (1°x,25 97 py1R30) 1NN 32T THN P99 Y91 1)

And also in the beginning of nn 5197 TR P99, the X1 states -
— 71292 ¥IHINK NIV 12PY»N 9YI IVUNA NIVYYL IN HaY2 1T 12 NIV OV

A note in which the date was written as naw or as the tenth of »wn (9> o), !!

7 When we are discussing the status of a woman, it is a stringency for her that she is married (for then she cannot
marry anyone else, and if she commits adultery she is 7in°» 2°°11), and a leniency if she is unmarried (for then she can
marry with whomever she pleases and is not put to death if she ‘lives’ with someone [provided he is not a relative]).
%99 11 ruled that in a place where the 217 is *2201 7771 *w7pn she is NwTPn (which is a k1), The w71 of 8" is that
we are not concerned, that perhaps he is from the minority; meaning that if we were concerned that he is from the
minority, she would not be nwpn. There is a double difficulty here; firstly the term w1 (we should be concerned)
indicates that we should be concerned and therefore be more stringent (meaning that she should be nw7pn), however
here we are using the term wi7°1 that we should be lenient (and she should not be nwmpn)! Secondly, we are dealing
with a w°R nwX P90 here, what logic is there that we should follow the minority and say that she is not nwTpn, when
we are dealing with an 707 1 D1y Mo°R?! The first question is a semantic one, the second a logical one. See
footnote # 13 for an answer to the second question mentioned here.

8 Sxmw ruled that if a man gave a woman a blank paper and told her, ‘this is your v)’, she is divorced, because we
are concerned that he wrote the v with P21 " (for our discussion 1"2°n " means [invisible] ink that is absorbed in
the paper and it can be made legible by applying a certain liquid). Here too we use the term 11w to be lenient and
consider her a divorcee. See footnote # 7, that the status of not being married is a X?3p.

? This was the X" there; according to the X3pon it is only a wwn and it needs to be verified if it was written 19°n 2.
We will need to say that mpoin proof is from the 8™, it did not bother us that SXww said "2 Rnaw 13°w>n for a X21p.

10 The ®n>3 which mpoIn is citing can be found in X,Xyp 2"2. In 117710 the Xn>™32 is cited as saying 213 1AW 0w
12N MR RAW 121 121 10°12 TR, WUV,

' This should make the 70w invalid since it was signed on naw or 3" so the o>7y transgressed a (major) MOX.
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it is =w>, for we are ‘concerned’!? perhaps it was postdated.'

nvoIn offers a different version of the Xan3:
=920 911 SWTPN VIYINI SWTPN 911 D201 NIIIT NIIN XD NIOIN D9) INIIN 1929

And the 1" has the text reading in the opposite manner; s'®95 17 ruling ‘was
necessary only in a case where >@7p» 9771 “%20% X217 and a minority is SwTpn

“B20n T -
= NUNPN RAN NYY YW1 ROVIWNY WIN?I NY N1DINT 1IN

We would have thought that we should not be concerned for the minority’,

meaning that she should not be nwWTP% (since the majority are *wpn 17 *220n); the

X773 continues, X9 21 -
= NYNPN RN RVIWINY 1PUINT )Y ynvun Np

‘Teaches us’ that we are concerned for the minority and she is Poon nwpn

(since there is a minority who are *220n 27 "W7Pn) -
- YN YN NUINT 90N DIVN ROIWNIY 115UINT 14RM NNYN)

And now (according to the X017 of the r") it is understandable what the X772

says that we are concerned for the minority because of the severity of 2R PN -
=920 91N SVTIPNT NINNA NI 29 9INPT XN BSNHWM

So now (according to the &07 of the ") this which p''9 said that in a place

where 2207 277 "WTPR the rule is 1w n -
= NOIYINIY 1PV N 20N 959N Y9201 977 WTPN QVIIVNIY 1IN

He meant to say that (even if) a minority of the people is “7asn 7MY Swpn,

nevertheless we are concerned for the minority and P 1mp? w»n. And when 5™

said that in a place where -
- 1599p1n 9111 9209 ©OY 13950 SWTPN 917 Y5201

WTPR T waon we are not concerned that means where all are =77 “9aon»
SWTPR, because if even a VIV is *2201 VTN WP, we are WOR NWR NO°R NN DIWH W,

12 Here too we use the term 13w (concerned) to validate a (questionable) quw, which is a leniency.

13 Regarding the second question mentioned in footnote # 7, the commentaries explain that it can be answered
whether according to >"w" or according to Md0IN. According to *"w since he did not say that he sent it for PP
and he could be from the v that *wipn 977 7201, so why should she be nwTpn. And similarly according to
Moo, there are no 07 that he was w7pn her so why should we assume it, if we can say that he is from the v1v°» that
WP T YHa0n.

14 According to the n"1 the 1w n is indeed X, for ordinarily we would follow the 217, and she would not be
nwTPn; however on account of the X of WR NWR MOR, we are poon wwn for the 11y and go XMn».

155" (actually) ruled that in a place where 2201 27 *w7pn we are 11w, however according to the 1" the rule of
W™ is in a place where *wpn 77M *H20n X2 (but not in a place where [R217 are] *220n 77T wIpn), which is
(seemingly) not in agreement with 5". The "1 resolves this issue (somewhat).

16 See ‘Thinking it over’ # 1.
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mooIn offers yet another Xo7X:
= HINN RDI2) 23N R¥N PNYY 1929 IN

However the v''m found another X992 in which it is written -
- DYNHPN NN 13PWN KT NOIV SWTPNI 910 Y9200

7PN T Y920n it is obvious that we are not concerned and she is not nwTIPR,

and the X3 answers that s'5"1 ruling regarding *w7pn 277 °2207 -
— 0201 91N SYTPN VIYI SYTPN 11 95201 N2IIT NN NY

Was necessary only in a case where a majority is >w7pn 277 >93o%» and a
minority is v730m 7 SwIpn -

219 VYN RP NYNPN NAM XVIYIND WIN RNDINT 1NN
So I may have thought that we should be concerned for the minority (who are

"9a0n 77 wIpn) and she should be nwTipn, so 5" teaches us that we are not
concerned and she is not nwTpn since we follow the majority who are *w7pn 271 *%20n.

Summary
X777 N2 Y1700 RUVPI
IRy wWn | 0920n AT CwIpR RN | CP0n TN wIpn 117w 0°190
WIPR TN O201W | vl RnN7 \afal (Mwmpnw) XvwH
NWTIPN 73°70 R 5'"Ap RV
v WY K | OWTPR A7 02201 R | CPa0n T WIRn 1"
9207 VTN OWIPAY | WP KD RRNT 0N (nwmpnw) Rvwo
NWTIPA RN R’ 5"Ap ROWMN?
IR WL | CwIpn TN 2P0 R | CWIPR T Haon "9
VA0 VT WIPAY | W R2NT W | (DWTIPR T1RY) RDWD
nWTIPA RN 5"ap ROWMN?

Our X073 and the > agree that in a place where *W7pn 177 °2201n X211 that she is not nwTpn,
while according to the 11" she is WX NWRT X107 21WH DWTIPA (since there is a VM of 7 “WIpPn
"H200).

Thinking it over

According to the i1 why was it necessary for &95 27 to say the case of >7201n 071>
wIpn 77 that wwIn PR,'® when it is obvious?!

2. What are the relative advantages of each of the three explanations?

17 The s'k7m3 question was not, as we have it, on the case of *220m 771 *W7pn, but rather on the case of 77M *20n
“wpn where 9" states that we are not concerned.
18 See footnote # 16.
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